ABSTR	ACT OF OFFERS - CONSTRUCTION		1. SOLIC	CITATION NUM	BFR	2. DATE ISSUED		DATE OPENED	PAGE 1 OF 13	
				-15-B-0001		23-Mar-15		28-Apr-15		
4. ISSU	NG OFFICE					Name and title of Certifying Official (Type)				
	y Corps of Engineers, Phila		I CERTIE	Y that I have on	ened, read, and		EDWARD A. BODDIE, CONTRACTING OFFICER			
	aker Building, Room 643			on this abstract		Signature Date Signed				
	n Square East			in response to the		Date digned				
	phia, PA 19107-3390		10001100	птоороное ю а	riio oononanori.					
5 PRO	ECT TITLE						9. OFFER	RS		
0.1100	201 11122		8 (GOVERNMENT ES	STIMATE	NO.: 1			(LB)	
FAA RE	SEARCH TEST BED REFURBISHMENT PROJEC	T CAPE			mplete D, E, and F.)	A. OFFEROR	(LB)	A. OFFEROR	(LD)	
	OUNTY AIRPORT, NEW JERSEY	71, 0711 =	(0110)	on M, B of O and co	inpicte b, E, and i .)	South State, In	r		al Services, Inc.	
	JOHN FAMA GIVI, NEW GENGE			A. HIRED LAB	OR	P.O. Box 68	0.	984 County Ro	*	
						Bridgeton, NJ (08302	Flemington, NJ		
				B REASONAE	BLE CONTRACT	B. Bid Security (Ty		B. Bid Security (Ty		
				D. INE/IOOIT/IE	DEE CONTINUE	BID BOND 209	%	BID BOND 209		
6. NUM	. NUMBER OF AMENDMENTS ISSUED			C. REASONAE	BLE CONTRACT	C. Amendment			Acknowledged	
	0001				· · · · · ·	YES	- 9	YES		
7A.	7B.	7C.	D.	E.	F.	E.	F.	E.	F.	
ITEM	DESCRIPTION OF OFFERED ITEM	EST.	UNIT	UNIT	ESTIMATED	UNIT	ESTIMATED	UNIT	ESTIMATED	
No.		QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	
	BASE BID:									
1	X-100.1 Mobilization/Demobilization	1	JOB	LS	\$252,115.35	LS	\$850,000.00	LS	\$600,000.00	
2	X-104.1 NJ State Mix Wearing Course	6,300	TON	\$106.20	\$669,060.00	\$95.00	\$598,500.00	\$120.00	\$756,000.00	
3	X-106.1 Temporary Construction Items	1	JOB	LS	\$593,476.21	LS	\$80,000.00	LS	\$50,000.00	
4	P-101.1 Surface Preparation	49,000	SY	\$3.48	\$170,520.00	\$7.00	\$343,000.00	\$7.00	\$343,000.00	
5	P-152.1 Unclassified Excavation	2,000	CY	\$7.00	\$14,000.00	\$25.00	\$50,000.00	\$25.00	\$50,000.00	
6	Erosion and Sediment Control	1	JOB		\$37,711.62	LS	\$25,000.00		\$18,000.00	
7	P-401.1 Bituminous Surface Course (PG 64 - 22	732	TON	\$106.79	\$78,170.28	\$110.00	\$80,520.00	\$220.00	\$161,040.00	
	Marshall HMA Mix)									
8	P-402.1 Bituminous Surface Course (PG 76 - 22	760	TON	\$119.40	\$90,744.00	\$110.00	\$83,600.00	\$235.00	\$178,600.00	
	Marshall HMA Mix)									
9	P-401.3 Bituminous Surface Course (PG 64 - 22	578	TON	\$106.97	\$61,828.66	\$110.00	\$63,580.00	\$250.00	\$144,500.00	
	Marshall WMA Mix)									
10	P-401.4 Bituminous Surface Course (PG 64-22	578	TON	\$106.97	\$61,828.66	\$110.00	\$63,580.00	\$220.00	\$127,160.00	
	Superpave mix)									
11	P-405.1 SMA Surface Course	578	TON	\$132.23	\$76,428.94	\$140.00	\$80,920.00	\$290.00	\$167,620.00	
	P-602.1 Bituminous Prime Coat	24,000		\$3.76	\$90,240.00	\$3.50	\$84,000.00		\$92,400.00	
	P-603.1 Bituminous Tack Coat	200	GAL	\$1.98	\$396.00	\$10.00	\$2,000.00		\$980.00	
	P-610.1 Vault Foundation	1	JOB		\$19,374.58	LS	\$23,000.00		\$70,000.00	
	P-610.2 Transformer Pad	1	JOB	LS	\$7,990.39	LS	\$2,600.00		\$15,000.00	
	P-620.1 Reflectorized Pavement Markings	12,500			\$50,750.00	\$1.50	\$18,750.00		\$43,750.00	
	D-751.1 Inlet Adjustment	18		\$675.19	\$12,153.42	\$1,300.00	\$23,400.00		\$21,600.00	
	T-901.1 Seeding	30,000			\$35,700.00	\$0.50	\$15,000.00		\$15,000.00	
	T-905.1 Topsoiling	3,500			\$39,235.00	\$20.00	\$70,000.00		\$122,500.00	
	T-908.1 Mulching	7	TON		\$136,150.84	\$2,000.00	\$14,000.00		\$35,000.00	
21	16113-01 No. 8, 5KV, L-824C Cable, Installed in	55,000	LF	\$4.43	\$243,650.00	\$1.60	\$88,000.00	\$2.50	\$137,500.00	
	Conduit									
22	16113-02 No. 6, 600V, THWN Wire, Installed in	11,650	LF	\$3.31	\$38,561.50	\$1.30	\$15,145.00	\$1.50	\$17,475.00	
	Conduit								,	
23	16113-03 No. 6 Copper Counterpoise Wire	5,500	LF	\$9.67	\$53,185.00	\$1.30	\$7,150.00	\$1.75	\$9,625.00	
	Installed at Ductbank									

501419-101 NOTE: If more than two offers are received, continue on OF 1419A. Prescribed by GSA-FAR(48 CER)53.236-1 OPTIONAL FORM 1419 (11-88)

ABSTR	ACT OF OFFERS - CONSTRUCTION			CITATION NUM -15-B-0001	BER	2. DATE ISSUED		DATE OPENED	PAGE 2 OF 13	
4 100111	NG OFFICE		W912BU	-13-6-0001		Name and title	of Certifying Official (1	[
	y Corps of Engineers, Phila		I CEDTIE	V that I have or	ened, read, and	ivallie and lille	or Certifying Official (1	ype)		
	aker Building, Room 643			on this abstract		Cianatura		Data Cianad		
	n Square East			in response to t		Signature		Date Signed		
			received	in response to t	nis solicitation.					
	phia, PA 19107-3390									
5. PROJ	ECT TITLE					9. OFFERS				
				GOVERNMENT ES		NO.: 1		NO.: 2		
	SEARCH TEST BED REFURBISHMENT PROJEC	T, CAPE	(Ched	ck A, B or C and co	mplete D, E, and F.)	A. OFFEROR		A. OFFEROR		
MAY CC	DUNTY AIRPORT, NEW JERSEY			1		South State, In	C.	Global Electric	al Services, Inc.	
				A. HIRED LAB	OR					
(continu	continued)			B. REASONAE	BLE CONTRACT	B. Bid Security (Ty	pe and Amount)	B. Bid Security (T	ype and Amount)	
	ANUMBED OF AMENDMENTO LOCUED									
6. NUM	BER OF AMENDMENTS ISSUED			C. REASONAE	BLE CONTRACT	C. Amendment	Acknowledged	C. Amendment	t Acknowledged	
	0001									
7A.	7B.	7C.	D.	E.	F.	E.	F.	E.	F.	
ITEM	DESCRIPTION OF OFFERED ITEM	EST.	UNIT	UNIT	ESTIMATED	UNIT	ESTIMATED	UNIT	ESTIMATED	
No.		QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	
24	16113-04 No. 6 Copper Counterpoise Wire	13,000	LF	\$2.65	\$34,450.00	\$2.00	\$26,000.00	\$1.75	\$22,750.00	
	Installed in Trench									
25	16113-05 Additional 3/4" X 10' Copper Clad	13	EA	794.02	\$10,322.26	\$155.00	\$2,015.00	\$50.00	\$650.00	
	Ground Rods				, ,	·	. ,		·	
26	16113-06 Additional L-823, Cable Splice Kit	25	EA	\$1,627.86	\$40,696.50	\$38.00	\$950.00	\$25.00	\$625.00	
	16113-07 Additional Stainless Steel Cable	500	EA		\$5,385.00	\$5.20	\$2,600.00		\$2,500.00	
	Identification Tag			*****	**,*******	75	*= ,	40.00	+ =,	
28	16113-08 Remove and Dispose of Existing	2,000	LF	\$1.07	\$2,140.00	\$0.55	\$1,100.00	\$1.00	\$2,000.00	
	L-824 Series Circuit Cabling			ψσ.	Ψ=,	ψ0.00	ψ.,.σσ.σσ	ψσσ	ΨΞ,000.00	
20	16113-09 Temporary L-824 Series Circuit Cabling	1,000	LF	\$4.16	\$4,160.00	\$2.10	\$2,100.00	\$1.50	\$1,500.00	
	16116-01 4 X 2" PVC Conduit Ductbank Direct	5,300	LF		\$280,052.00	\$16.50	\$87,450.00		\$37,100.00	
30	Buried in Earth, in Sand	3,300	LI	Ψ32.04	Ψ200,032.00	ψ10.50	ψ07,430.00	Ψ1.00	ψ37,100.00	
21	16116-02 4 X 2" PVC Conduit Ductbank	150	LF	\$85.83	\$12,874.50	\$70.00	\$10,500.00	\$100.00	\$15,000.00	
31	Open Cut in Pavement, in Concrete	130	LI	ψ03.03	Ψ12,074.50	Ψ10.00	ψ10,500.00	Ψ100.00	Ψ13,000.00	
22	16116-03 16 X 2" PVC Conduit Ductbank	5,150	LF	\$167.75	\$863,912.50	\$50.00	\$257,500.00	\$7.00	\$36,050.00	
	Direct Buried in Earth, in Sand	5,150	L	\$107.73	φουσ,912.50	φ50.00	φ237,300.00	\$7.00	φ30,030.00	
	16116-04 16 X 2" PVC Conduit Ductbank,	450	LF	CO45 44	#20.240.00	¢225.00	#25.250.00	£400.00	¢45,000,00	
33		150	LF	\$215.44	\$32,316.00	\$235.00	\$35,250.00	\$100.00	\$15,000.00	
0.4	Concrete, Encased Open Cut in Pavement	0.000	. –	004.00	# 000 0 40 00	# 40.00	#70.000.00	Φ= 00	# 00 000 00	
34	16116-05 2" PVC Conduit, in Earth, Concrete	6,000	LF	\$34.89	\$209,340.00	\$12.00	\$72,000.00	\$5.00	\$30,000.00	
	Encased	0= 000		00471	04 045 000 00	* * * * * * * * * * * * * * * * * * *	# 070 070 55	4- 0-	M477 000 55	
35	16116-06 2" PVC Conduit, Concrete Encased,	35,000	LF	\$34.74	\$1,215,900.00	\$10.75	\$376,250.00	\$5.00	\$175,000.00	
	Open Cut in Pavement	_		0.4.070.7	400.050.55	040 500 05	# 00 # 00 .	#0.000.00	Ф40.000.55	
	16116-07 5' X 5' X 5' Handhole, Aircraft Rated	5	EA		\$23,353.65	\$12,500.00	\$62,500.00		\$40,000.00	
	16116-08 24" X 36" X 36" Pullbox	44	EA		\$119,257.16	\$825.00	\$36,300.00		\$220,000.00	
	16116-09 13" X 24" X 24" Pullbox	17	EA		\$35,107.72	\$475.00	\$8,075.00		\$51,000.00	
	16116-10 Ductbank Markers	10	EA		\$3,281.10	\$140.00	\$1,400.00		\$3,000.00	
40	16116-11 Modify Existing Pullbox for Additional	2	EA	\$319.78	\$639.56	\$460.00	\$920.00	\$1,200.00	\$2,400.00	
	Conduit									
	16210-01 Service Entrance	1	JOB		\$8,568.19	LS	\$4,600.00	LS	\$28,000.00	
42	16461-02 Vault Foundation Grounding	1	JOB	LS	\$11,304.87	LS	\$12,000.00	LS	\$75,000.00	

ABSTR/	ACT OF OFFERS - CONSTRUCTION			OTATION NUM -15-B-0001	BER	2. DATE ISSUED		DATE OPENED	PAGE 3 OF 13
US Army Wanama 100 Pen	NG OFFICE / Corps of Engineers, Phila aker Building, Room 643 n Square East phia, PA 19107-3390		I CERTIF recorded			Name and title of Certifying Official (Type) Signature Date Signed			
	ECT TITLE						9. OFFER	RS	
0.11100	201 11122		8. (GOVERNMENT ES	STIMATE	NO.: 1		NO.: 2	
	SEARCH TEST BED REFURBISHMENT PROJEC DUNTY AIRPORT, NEW JERSEY	T, CAPE	(Check A, B or C and complete D, E, and F.) A. HIRED LABOR			A. OFFEROR South State, Inc		A. OFFEROR Global Electrical Services, Inc.	
(continue	ed)		B. REASONABLE CONTRACT			B. Bid Security (Ty	pe and Amount)	B. Bid Security (Ty	/pe and Amount)
	BER OF AMENDMENTS ISSUED 0001		Λ	C. REASONAE	BLE CONTRACT	C. Amendment	Acknowledged	C. Amendmen	Acknowledged
7A.	7B.	7C.	D.	E.	F.	E.	F.	E.	F.
ITEM No.	DESCRIPTION OF OFFERED ITEM	EST. QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT	UNIT PRICE	ESTIMATED AMOUNT	UNIT PRICE	ESTIMATED AMOUNT
	16530-01 L868B Two Piece Fixture Base with	220	EA		\$1,054,972.60		\$308,000.00	\$950.00	\$209,000.00
	Connector Kit and Plate								
	16530-02 L867B Adjustable Fixture Base with	39	EA	\$4,323.28	\$168,607.92	\$1,000.00	\$39,000.00	\$4,100.00	**\$159,900.00
45	Connector Kit and Plate 16530-03 L852T Flush Mount Taxiway Edge	30	EA	\$13,881.66	\$416,449.80	\$2,150.00	\$64,500.00	\$1,500.00	\$45,000.00
	Light LED, L868B Two Piece Fixture Base with								
46	Connector Kit, Transformer 16530-04 L861T LED Elevated Taxiway Edge Light, L867B Fixture Base with Connector	25	EA	\$9,210.44	\$230,261.00	\$1,650.00	\$41,250.00	\$950.00	\$23,750.00
47	Kit, Transformer 16530-05 L861T Elevated Taxiway Edge Light Quartz Lamp, L867B Fixture Base with Connector	9	EA	\$9,549.79	\$85,948.11	\$1,650.00	\$14,850.00	\$800.00	\$7,200.00
48	Kit, Transformer 16530-06 L858-L/R/Y LED Signs, 1 Module Single Side, Size 2 in, Concrete Base, Complete	2	EA	\$17,943.05	\$35,886.10	\$4,250.00	\$8,500.00	\$3,420.00	***\$6,840.00
	16530-07 L858-L/R/Y LED Signs, 2 Module	2	EA	\$19,374.22	\$38,748.44	\$7,300.00	\$14,600.00	\$4,260.00	\$8,520.00
	Single Side, Size 2 in, Concrete Base, Complete 16530-08 L858-L/R/Y LED Signs, 3 Module	1	EA		\$21,317.58	\$11,500.00	\$11,500.00		\$7,380.00
	Single Side, Size 3 in, Concrete Base, Complete			Ψ21,011.00	ΨΕ1,011.00	Ψ11,000.00	ψ11,000.00	ψ1,000.00	ψ1,000.00
51	16530-09 L858-L/R/Y LED Signs, 3 Module Double Side, Size 3 in, Concrete Base, Complete	1	EA	\$22,346.38	\$22,346.38	\$12,000.00	\$12,000.00	\$7,380.00	\$7,380.00
52	16530-10 L858 Sign, Concrete Mounting Base, Complete	5	EA	\$6,960.67	\$34,803.35	\$5,100.00	\$25,500.00	\$2,000.00	\$10,000.00
	16530-11 Connect to Existing Taxiway or Runway	5	EA	\$7,581.12	\$37,905.60	\$550.00	\$2,750.00	\$85.00	\$425.00
54	Edge Light Fixture 16530-12 Install Field Cutout Cabinet Mounting, Structure, Housekeeping Pad, Grounding and	1	EA		\$27,593.04	\$4,500.00	\$4,500.00		\$4,000.00
55	Electrical Work 16530-13 Remove Existing Edge Light and Base, Splice Existing Circuit in Base or Pullbox Feeding Removed Base for Continuity, Fill Void per	3	EA	\$2,832.86	\$8,498.58	\$275.00	\$825.00	\$2,000.00	\$6,000.00
	Drawing								

ABSTRAC	T OF OFFERS - CONSTRUCTION			TATION NUN	MBER	2. DATE ISSUED		DATE OPENED	PAGE 4 OF 13	
4. ISSUING	OFFICE		W912BU-1	15-B-0001		Name and title of	Certifying Official (Type)			
	corps of Engineers, Phila		I CERTIFY	that I have o	pened, read, and					
	er Building, Room 643			on this abstrac		Signature		Date Signed		
	Square East		received in	response to	this solicitation.					
	a, PA 19107-3390									
5. PROJEC	CT TITLE					9. OFFERS				
- 4 5 5 5 5 5	A DOLL TEST DED DEELIDDIQUIA ENT DDG IEST O		8. GOVERNMENT ESTIMATE			NO.: 1		NO.: 2		
	ARCH TEST BED REFURBISHMENT PROJECT, C NTY AIRPORT, NEW JERSEY	APE				A. OFFEROR South State, Inc.		A. OFFEROR		
MAY COU	NIY AIRPORT, NEW JERSET		A LIBED LABOR			South State, Inc.		Global Electric	cal Services, Inc.	
			A. HIRED LABOR							
(continued)			B. REASONABLE CONTRACT			B. Bid Security (Type	and Amount)	B Bid Security (Type and Amount)	
(00////////////////////////////////////	,		Χ			2. Dia Coounty (Type	ana mounty	2. Dia Scounty (. , po ana Amount)	
6. NUMBER	R OF AMENDMENTS ISSUED		C. REASONABLE CONTRACT		C. Amendment A	cknowledged	C. Amendmer	nt Acknowledged		
	0001						Ü		· ·	
7A.	7B.	7C.	D.	E.	F.	E.	F.	E.	F.	
ITEM	DESCRIPTION OF OFFERED ITEM	EST.	UNIT	UNIT	ESTIMATED	UNIT	ESTIMATED	UNIT	ESTIMATED	
No.		QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT	PRICE		
	16530-14 Remove Existing Light and Base, Fill	7	EA	\$1,205.03	\$8,435.21	\$275.00	\$1,925.00	\$1,200.00	\$8,400.00	
	Void per Drawings									
	16530-15 Install Field Service Panel Mounting,	16	EA	\$10,593.22	\$169,491.52	\$3,800.00	\$60,800.00	\$4,000.00	\$64,000.00	
	Structure, Housekeeping Pad, Grounding and									
	Electrical Works 16701-01 24-Strand Fiber Optic Communications	7,100	LF	\$6.48	\$46,008.00	\$12.65	\$89,815.00	\$12.00	\$85,200.00	
	Cable	7,100	LF	φ0.40	Φ40,000.00	\$12.00	φο9,ο15.00	\$12.00	\$65,200.00	
	Cable									
,	TOTAL EST BASE BID AMOUNT:				\$8,153,604.69		\$4,381,570.00		\$4,587,320.00	
	OPTION BID WORK									
	OPTION 1:									
59	16461-01 Prefabricated Electrical Vault, Equipment	1	JOB	LS	\$1,176,326.73	LS	\$685,000.00		\$720,000.00	
	and Field Panels									
	TOTAL EST BASE BID AND ALL OPTIONS AMT:				\$9,329,931.42		\$5,066,570.00		\$5,307,320.00	
	TOTAL LOT BASE BID AND ALL OF HONS AWIT.				φ σ, 32 3 ,331.42		φ3,000,370.00		φυ,υυτ,υ20.00	
	*NOTE: The IGE had a clerical error and has been									
	NOTE. THE IDE HAU A CIEFICAL EFFOR AND HAS DEED									
**NOTE: The bid had a mathematical error and has been corre										
	***NOTE: The bid had a mathematical error and h	as been co	rected							

	T OF OFFERS			ATION NUMBER			PAGE 5 OF 13					
CONSTRU	ICTION		W912BU-15									
CONTINU	ATION SHEET		INSTRUCTION	ONS - Attach this form t	o OF 1419, A	Abstract of Offers - Constr	uction, when mo	re than 2 offers are received on				
			a construction	on project. Each Continu	uation Sheet	will accommodate 14 con	tract items to co	nform to the number of items				
			which can be	e entered on the OF 141	9. Use addi	tional OF 1419's for the co	ontract items in e	excess of 14 and attach additional				
			Continuation	Sheets (OF 1419A) as								
			OFFERS (Continued)									
2. PROJEC	CT TITLE											
			NO.: 3	(SB)	NO.: 4	(LB)	NO.: 5	(LB)				
FAA RESE	ARCH TEST BED)	A. OFFERO	R	A. OFFERO	DR	A. OFFEROR	,				
REFURBIS	SHMENT PROJEC	CT, CAPE	Con-El Elect	ric, Inc.	Eastern Cor	nstruction & Electric, Inc.	C.J. Hesse, Inc.					
MAY COU	NTY AIRPORT, N	EW JERSEY	1416 No. Br	oad St.	18 Georgeto	own Road	25 First Avenue					
				07205	Wrightstown	n, NJ 08562	Atlantic Highlan	ds, NJ 07716				
					B. Bid Security	y (Type and Amount)	B. Bid Security (Ty	pe and Amount)				
			No Bid Bond		BID BOND	20%	BID BOND 20%	· · · · · · · · · · · · · · · · · · ·				
	NTINUED		C. Amenda	nent Acknowledged	C. Amendm	ent Acknowledged	C. Amendment	Acknowledged				
3. CONTR	RACT ITEMS		YES		YES		YES	<u>-</u>				
A.	B.	C.	D.	E.	D.	E.	D.	E.				
ITEM	ESTIMATED	UNIT	UNIT	ESTIMATED	UNIT	ESTIMATED	UNIT	ESTIMATED				
No.	QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT				
	BASE BID:											
1	1	JOB	LS	\$555,250.00		\$145,500.00	LS	\$950,000.00				
2	6,300	TON	\$89.75	\$565,425.00	\$115.00	\$724,500.00	\$95.00	\$598,500.00				
3	1	JOB	LS	\$269,562.00	LS	\$197,000.00	LS	\$400,000.00				
4	49,000	SY	\$4.70	\$230,300.00		\$276,850.00	\$6.00	\$294,000.00				
5	2,000	CY	\$34.00	\$68,000.00		\$112,000.00	\$35.00	\$70,000.00				
6	1	JOB	LS	\$155,000.00		\$70,000.00	LS	\$95,000.00				
7	732	TON	\$140.00	\$102,480.00	\$205.00	\$150,060.00	\$110.00	\$80,520.00				
8	760	TON	\$133.00	\$101,080.00	\$205.00	\$155,800.00	\$105.00	\$79,800.00				
9	578	TON	\$140.00	\$80,920.00		\$118,490.00	\$112.00	\$64,736.00				
10	578	TON	\$140.00	\$80,920.00		\$118,490.00	\$110.00	\$63,580.00				
11	578	TON	\$160.00	\$92,480.00		\$138,720.00	\$130.00	\$75,140.00				
12	24,000	GAL	\$3.53	\$84,720.00	\$0.50	\$12,000.00	\$4.00	\$96,000.00				
13	200	GAL	\$7.00	\$1,400.00		\$7,000.00	\$5.00	\$1,000.00				
14	1	JOB	LS	\$15,100.00		\$25,000.00	LS	\$28,500.00				
15	1	JOB	LS	\$4,700.00		\$5,000.00	LS	\$4,000.00				
16	12,500	SF	\$2.00	\$25,000.00		\$21,875.00	\$1.25	\$15,625.00				
17	18	EA	\$450.00		\$1,200.00	\$21,600.00	\$1,500.00	\$27,000.00				
18	30,000	SY	\$2.50	\$75,000.00		\$36,000.00	\$1.05	\$31,500.00				
19	3,500	CY	\$13.00	\$45,500.00	· ·	\$245,000.00	\$50.00	\$175,000.00				
20	7	TON	' '	\$10,500.00		\$1,400.00	\$2,200.00	\$15,400.00				
21	55,000	<u>LF</u>	\$3.58	\$196,900.00		\$159,500.00	\$1.60	\$88,000.00				
22	11,650	LF	\$2.50	\$29,125.00	· ·	\$30,290.00	\$1.25	\$14,562.50				
23	5,500	LF	\$2.24	\$12,320.00	\$2.90	\$15,950.00	\$1.25	\$6,875.00				
24	13,000	LF	\$2.02	\$26,260.00	\$2.60	\$33,800.00	\$11.50	\$149,500.00				
25	13	EA	\$31.00	\$403.00		\$1,430.00	\$145.50	\$1,891.50				
26	25	EA	\$63.60	\$1,590.00		\$2,750.00	\$37.00	\$925.00				
27	500	EA	\$4.00	\$2,000.00	\$45.00	\$22,500.00	\$5.00	\$2,500.00				
28	2,000	LF	\$1.50	\$3,000.00	\$1.30	\$2,600.00	\$0.60	\$1,200.00				
29	1,000	LF	\$1.60	\$1,600.00	\$12.00	\$12,000.00	\$2.00	\$2,000.00				

	T OF OFFERS			ATION NUMBER				PAGE 6 OF 13
CONSTRU			W912BU-15-					
CONTINU	ATION SHEET		INSTRUCTION	ONS - Attach this form	to OF 1419, A	bstract of Offers - Construction	, when more t	than 2 offers are received on
			a constructio	n project. Each Contin	uation Sheet	will accommodate 14 contract i	tems to confo	rm to the number of items
			which can be	entered on the OF 14	Use addit	ional OF 1419's for the contrac	t items in exce	ess of 14 and attach additiona
			Continuation	Sheets (OF 1419A) as				
						OFFERS (Continued)		
2. PROJEC	CT TITLE		NO 0			luo s		
E		F D	NO.: 3		NO.: 4 A. OFFEROF		NO.: 5 A. OFFEROF	
	EARCH TEST B					struction & Electric. Inc.	C.J. Hesse. I	
			Con-El Electi	ric, inc.	Eastern Cons	struction & Electric, inc.	C.J. Hesse, I	nc.
MAY COU	NTY AIRPORT,	NEW JERSET						
			B Bid Security	(Type and Amount)	B Bid Security	(Type and Amount)	B Bid Security	(Type and Amount)
			B. Bia Cooding	(Type and Amount)	B. Bia Coounty	(Type and / mount)	B. Bia Gooding	(Type and Amount)
	NTINUED		C. Amendn	nent Acknowledged	C. Amendme	nt Acknowledged	C. Amendme	ent Acknowledged
	RACT ITEMS							
Α.	В.	C.	D.	E.	D.	E.	E.	F.
ITEM	ESTIMATED	UNIT	UNIT	ESTIMATED	UNIT	ESTIMATED	UNIT	ESTIMATED
No.	QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
30	5,300	LF	\$21.00	\$111,300.00	\$31.00	\$164,300.00	\$20.00	\$106,000.00
31	150	LF	\$65.00	\$9,750.00		\$7,350.00	\$68.00	\$10,200.00
32	5,150	LF	\$38.00	\$195,700.00	\$67.00	\$345,050.00	\$52.00	\$267,800.00
33	150	LF	\$90.00	\$13,500.00	\$99.00	\$14,850.00	\$222.00	\$33,300.00
34	6,000	LF	\$14.00	\$84,000.00	\$10.00	\$60,000.00	\$13.50	\$81,000.00
35 36	35,000	LF	\$17.00 \$9,000.00	\$595,000.00	\$14.00	\$490,000.00	\$13.00 \$25,000.00	\$455,000.00
36	5 44	EA EA	\$9,000.00	\$45,000.00 \$92,400.00	\$21,500.00 \$1,750.00	\$107,500.00	\$25,000.00	\$125,000.00
38	17	EA EA	\$2,100.00	\$30,600.00	. ,	\$77,000.00 \$17,085.00	\$1,500.00	\$66,000.00 \$18,700.00
39	10	EA	\$1,000.00	\$1,000.00	\$323.00	\$3,230.00	\$1,100.00	\$1,500.00
40	2	EA	\$1,600.00	\$3,200.00		\$2,700.00	\$450.00	\$900.00
41	1	JOB	LS	\$15,500.00		\$15,000.00	LS	\$6,000.00
42	1	JOB	LS	\$5.000.00		\$16,000.00	LS	\$12,700.00
43	220	EA	\$2,075.00	\$456,500.00	_	\$549,120.00	\$1,400.00	\$308,000.00
44	39	EA	\$1,232.00	\$48,048.00		\$85,800.00	\$1,000.00	\$39,000.00
45	30	EA	\$2,009.00	\$60,270.00	\$2,890.00	\$86,700.00	\$2,100.00	\$63,000.00
46	25	EA	\$1,484.00	\$37,100.00	\$2,370.00	\$59,250.00	\$1,600.00	\$40,000.00
47	9	EA	\$1,284.00	\$11,556.00	\$2,320.00	\$20,880.00	\$1,700.00	\$15,300.00
48	2	EA	\$12,500.00	\$25,000.00		\$17,080.00	\$4,600.00	\$9,200.00
49	2	EA	\$10,000.00	\$20,000.00		\$19,110.00	\$7,500.00	\$15,000.00
50	1	EA	\$14,000.00	\$14,000.00	. ,	\$9,280.00	\$12,000.00	\$12,000.00
51	1	EA	+ ,	\$14,600.00		\$9,375.00	\$12,000.00	\$12,000.00
52	5	EA	\$7,500.00	\$37,500.00		\$32,550.00	\$5,000.00	\$25,000.00
53	5	EA	\$1,683.00	\$8,415.00		\$32,550.00	\$550.00	\$2,750.00
54	1	EA		\$3,400.00		\$5,000.00	\$4,300.00	\$4,300.00
55	3	EA	\$1,100.00	\$3,300.00		\$4,950.00	\$425.00	\$1,275.00
56	7	EA	\$500.00	\$3,500.00		\$3,500.00	\$850.00	\$5,950.00
57	16	EA	\$4,300.00	\$68,800.00		\$89,360.00	\$3,700.00	\$59,200.00
58	7,100	LF	\$11.50	\$81,650.00		\$14,200.00	\$12.50	\$88,750.00
1	OTAL ESTIMA	IED BASE BID		\$2,095,589.00		\$5,221,875.00		\$5,317,580.00

ABSTRAC	CT OF OFFERS		1. SOLICI	TATION NUMB	ER			PAGE 7 OF 13			
CONSTRU	JCTION		W912BU-1	15-B-0001							
CONTINU	ATION SHEET		INSTRUC [*]	TIONS - Attach	this form to	OF 1419, Abstract of Offe	rs - Constr	uction, when more than 2 offers are received			
			on a const	ruction project.	Each Conti	nuation Sheet will accomn	nodate 14 c	contract items to conform to the number of			
			items which can be entered on the OF 1419. Use additional OF 1419's for the contract items in excess of 14 and								
			attach additional Continuation Sheets (OF 1419A) as needed.								
					OFFERS (Continued)					
2. PROJE	CT TITLE										
			NO.: 3		NO.: 4		NO.: 5				
	FAA RESEARCH TEST BED			OR	A. OFFER		A. OFFER				
	REFURBISHMENT PROJECT, CAPE			ectric, Inc.	Eastern Co	onstruction & Electric, Inc.	C.J. Hesse	e, Inc.			
MAY COU	MAY COUNTY AIRPORT, NEW JERSE										
			B. Bid Secur	ity (Type and Amo	B. Bid Securi	ty (Type and Amount)	B. Bid Secur	ity (Type and Amount)			
CC	ONTINUED		C Amond	mont Aaknavilae	C Amonda	nent Acknowledged	C Amonda	ment Acknowledged			
	RACT ITEMS		C. Amena I	ment Acknowled	C. Amendi	neni Acknowledged	C. Amendi	nent Acknowledged			
A.	B.	C.	D.	E.	D.	E.	D.	E.			
ITEM	ESTIMATED	UNIT	UNIT	ESTIMATED	UNIT	ESTIMATED	UNIT	ESTIMATED			
No.	QUANTITY	OIVII	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT			
	OPTION BID W	ORK		,		7 1110 0111		7 111100111			
	OPTION 1:	-									
59		JOB	LS	\$551,000.00	LS	\$630,000.00	LS	\$650,000.00			
TOTAL 50	ET BASE DID AN	UD ALL ODTIO	NC AMT	¢E 404 224 22		¢E 0E4 07E 00		¢5 007 500 00			
IOTAL ES	ST BASE BID AN	ND ALL OPTIO	NO AWII:	\$5,491,224.00		\$5,851,875.00		\$5,967,580.00			

ABSTRAC	T OF OFFERS		1. SOLICIT	ATION NUMBER				PAGE 8 OF 13				
CONSTRU			W912BU-15									
	ATION SHEET			IONS - Attach this form to OF 141	9. Abstract of	Offers - Construction, when	more than 2 of	fers are received on				
				on project. Each Continuation She								
				e entered on the OF 1419. Use a								
				n Sheets (OF 1419A) as needed.	aditional of 1	410 0 for the contract terms	111 000000 01 1-	and attaon additional				
			Continuation	Tronceto (Or 1410/t) do necaca.	OFFERS (Co	ntinued)						
2. PROJEC	CT TITLE			. , ,								
			NO.: 6	(SB)	NO.: 7	(SB)	NO.: 8	(SB)				
FAA RESE	ARCH TEST BI	ΞD	A. OFFERO	DR	A. OFFEROR		A. OFFEROR	,				
REFURBIS	SHMENT PROJE	ECT, CAPE	Ranco Cons	struction, Inc.	A.E. Stone, Ir	nc.	The Chappy C	orporation				
	NTY AIRPORT,		2 Coleman		1435 Doughty		90 Spencer Av					
	·		Southampto	on, NJ 08088		ownship, NJ 08234	Chelsea, MA					
			B. Bid Security	y (Type and Amount)	B. Bid Security (Type and Amount)	B. Bid Security (T	ype and Amount)				
			BID BOND	, , , ,	BID BOND 20		BID BOND 209					
CO	NTINUED			ment Acknowledged		nt Acknowledged		t Acknowledged				
3. CONTR	ACT ITEMS		YES		YES		YES					
A.	B.	C.	D.	E.	D.	E.	D.	E.				
ITEM	ESTIMATED	UNIT	UNIT	ESTIMATED	UNIT	ESTIMATED	UNIT	ESTIMATED				
No.	QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT				
	BASE BID:											
1	1	JOB	LS	\$251,100.00	LS	\$252,325.00		\$435,000.00				
2	6,300	TON	\$124.00	\$781,200.00	\$100.00	\$630,000.00	\$104.00	\$655,200.00				
3	1	JOB	LS	\$256,273.88	LS	\$360,000.00		\$260,000.00				
4	49,000	SY	\$7.16	\$350,840.00		\$245,000.00		\$294,000.00				
5	2,000	CY	\$71.68	\$143,360.00	\$80.00	\$160,000.00	\$69.00	\$138,000.00				
6	1	JOB	LS	\$80,048.25		\$25,000.00		\$44,500.00				
7	732	TON	\$212.35	\$155,440.20	\$175.00	\$128,100.00	\$200.00	\$146,400.00				
8	760	TON	\$212.23	\$161,294.80	\$175.00	\$133,000.00		\$152,760.00				
9	578	TON	\$212.22	\$123,241.16	\$175.00	\$101,150.00	\$200.00	\$115,600.00				
10	578	TON	\$213.22	\$123,241.16		\$101,150.00	\$200.00	\$115,600.00				
11	578	TON	\$243.08	\$140,500.24	\$200.00	\$115,600.00		\$132,940.00				
12	24,000	GAL	\$0.06	\$1,440.00	\$0.01	\$240.00	\$0.20	\$4,800.00				
13	200	GAL	\$53.76	\$10,752.00	\$50.00	\$10,000.00		\$10,600.00				
14	1	JOB	LS LS	\$22,401.56	LS LS	\$15,000.00		\$47,000.00				
15	10.500	JOB	\$3.01	\$3,763.46	_	\$2,500.00		\$9,900.00				
16 17	12,500	SF	\$3.01 \$929.25	\$37,625.00 \$16,726.50	\$1.00	\$12,500.00 \$13,500.00		\$18,750.00 \$18,450.00				
17 18	18 30,000	EA SY	\$929.25 \$1.19	\$16,726.50 \$35,700.00	\$750.00 \$0.01	\$13,500.00 \$300.00		\$18,450.00 \$90,000.00				
19	3,500	CY	\$34.65	\$121,275.00	\$0.01	\$300.00		\$90,000.00				
20	3,300	TON	\$1,041.14	\$7,287.98	\$100.00	\$700.00	\$1,500.00	\$21,000.00 \$10,500.00				
21	55,000	LF	\$1,041.14	\$91,850.00	\$8.00	\$440,000.00		\$192,500.00				
22	11,650		\$1.23	\$14,329.50	\$2.00	\$23,300.00	\$3.50	\$40,775.00				
23	5,500	LF.	\$5.35	\$29,425.00	\$3.00	\$16,500.00		\$8,800.00				
24	13,000	LF	\$3.28	\$42,640.00	\$3.00	\$39,000.00	\$2.80	\$36,400.00				
25	13,000	EA	\$316.15	\$4,109.95	\$1,200.00	\$15,600.00		\$3,120.00				
26	25	EA	\$221.02	\$5,525.50	\$120.00	\$3,000.00	\$150.00	\$3,750.00				
27	500	EA	\$64.03	\$32,015.00	\$25.00	\$12,500.00	\$36.00	\$18,000.00				
28	2,000	LF	\$8.84	\$17,680.00	\$1.00	\$2,000.00	\$2.00	\$4,000.00				
29	1,000	LF	\$6.81	\$6,810.00	\$6.00	\$6,000.00	\$4.00	\$4,000.00				

ABSTRACT CONSTRU	T OF OFFERS		1. SOLICITA W912BU-15	ATION NUMBER			PAGE 9 OF 13					
	ATION SHEET				10 Abotroot o	Offers Construction	uhan mara ti	on 2 offers are received an				
CONTINUA	ATION SHEET		INSTRUCTIONS - Attach this form to OF 1419, Abstract of Offers - Construction, when more than 2 offers are received on									
			a construction project. Each Continuation Sheet will accommodate 14 contract items to conform to the number of items which can be entered on the OF 1419. Use additional OF 1419's for the contract items in excess of 14 and attach additional									
					additional OF	1419's for the contract	items in exce	ss of 14 and attach additional				
			Continuation	Sheets (OF 1419A) as needed.	OFFERS (Ca	\m4!mad\						
2. PROJEC	T TITL C		OFFERS (Continued)									
Z. PROJEC) IIILE		NO · C		NO · 7		INO. o					
	- 4 DOLL TEOT (NED.	NO.: 6	0	NO.: 7		NO.: 8					
	EARCH TEST I		A. OFFERO		A. OFFEROR		A. OFFEROR					
	REFURBISHMENT PROJECT, CAPE MAY COUNTY AIRPORT, NEW JERSE			truction, Inc.	A.E. Stone, I	nc.	The Chappy	Corporation				
MAY COU	NIY AIRPORT	, NEW JERSEY										
			D. Did O it.	(Type and Amount)	D. Did Committee	(Type and Amount)	D. Did Oit.	(Type and Amount)				
			B. Bid Security	(Type and Amount)	B. Bid Security	(Type and Amount)	B. Bid Security	(Type and Amount)				
	NTINUED		C. Amendr	nent Acknowledged	C. Amendme	nt Acknowledged	C. Amendme	ent Acknowledged				
	CONTRACT ITEMS											
Α.	В.	C.	D.	E.	D.	E.	D.	E.				
ITEM	ESTIMATED	UNIT	UNIT	ESTIMATED	UNIT	ESTIMATED	UNIT	ESTIMATED				
No.	QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT				
30	5,300	LF	\$15.78	\$83,634.00	\$25.00	\$132,500.00		\$106,000.00				
31	150	LF	\$37.79	\$5,668.50	\$60.00	\$9,000.00		\$19,500.00				
32	5,150	<u>LF</u>	\$46.40	\$238,960.00	\$70.00	\$360,500.00		\$669,500.00				
33	150	LF	\$71.04 \$44.05	\$10,656.00	\$100.00	\$15,000.00		\$19,500.00				
34	6,000	LF	\$11.95	\$71,700.00	\$40.00	\$240,000.00		\$168,000.00				
35	35,000 5	LF EA	\$11.16	\$390,600.00	\$40.00 \$25,000.00	\$1,400,000.00 \$125,000.00		\$1,120,000.00 \$75,000.00				
36 37	5 44	EA EA	\$12,903.30 \$4,200.64	\$64,516.50 \$184,828.16		\$125,000.00 \$110,000.00		\$75,000.00 \$176,000.00				
38	17	EA	\$4,200.64	\$49,940.56	\$2,500.00	\$110,000.00 \$25,500.00		\$176,000.00				
39	10	EA	\$138.60	\$1,386.00	\$1,300.00	\$1,000.00	' '	\$10,000.00				
40	2	EA	\$854.25	\$1,708.50	\$200.00	\$400.00	' '	\$1,600.00				
41	1	JOB	ψ054.25 LS	\$27,818.20	ψ200.00 LS	\$12,000.00		\$15,000.00				
42	1	JOB	LS	\$3,321.41	LS	\$15,000.00		\$11,000.00				
43	220	EA	\$2,206.49	\$485,427.80	_	\$880,000.00		\$880,000.00				
44	39	EA	\$2,077.03	\$81,004.17	\$4,000.00	\$156,000.00	' '	\$140,400.00				
45	30	EA	\$2,702.13	\$81,063.90		\$120,000.00		\$144,000.00				
46	25	EA	\$2,235.38	\$55,884.50		\$75,000.00		\$112,500.00				
47	9	EA	\$2,313.17	\$20,818.53	\$3,000.00	\$27,000.00		\$37,800.00				
48	2	EA	\$6,457.63		\$10,000.00		\$21,000.00	\$42,000.00				
49	2	EA	\$7,765.88		\$10,000.00		\$23,000.00	\$46,000.00				
50		EA	\$10,035.90		\$12,000.00		\$26,000.00	\$26,000.00				
51	1	EA	\$10,334.59	\$10,334.59	\$10,000.00		\$26,000.00	\$26,000.00				
52	5	EA	\$7,479.14	\$37,395.70	\$7,000.00		\$24,000.00	\$120,000.00				
53	5	EA	\$1,075.28	\$5,376.40	\$800.00		\$4,500.00	\$22,500.00				
54	1	EA	\$32,975.10	\$32,975.10			\$14,000.00	\$14,000.00				
55	3	EA	\$537.64	\$1,612.92	\$2,000.00	\$6,000.00	\$2,500.00	\$7,500.00				
56	7	EA	\$503.51	\$3,524.57	\$2,000.00	\$14,000.00		\$11,200.00				
57	16	EA		\$341,698.40		\$176,000.00		\$160,000.00				
58	7,100	LF	\$10.18	\$72,278.00	\$11.00	\$78,100.00	\$35.00	\$248,500.00				
T	OTAL ESTIMA	TED BASE BID		\$5,470,511.47		\$6,950,000.00		\$7,521,345.00				

ABSTRAC	CT OF OFFER	RS	1. SOLICI	TATION NUMBER				PAGE 10 OF 13			
CONSTRU	JCTION		W912BU-1	5-B-0001							
CONTINU	ATION SHEE	Τ	INSTRUCTIONS - Attach this form to OF 1419, Abstract of Offers - Construction, when more than 2 offers are received on								
			a construction project. Each Continuation Sheet will accommodate 14 contract items to conform to the number of items								
			which can I	be entered on the OF 1419. Use ad	Iditional OF	1419's for the contrac	t items in e	xcess of 14 and attach additional			
			Continuation	on Sheets (OF 1419A) as needed.							
			OFFERS (Continued)								
2. PROJE	CT TITLE										
			NO.: 6		NO.: 7		NO.: 8				
FAA RESEARCH TEST BED			A. OFFER	OR	A. OFFER	OR	A. OFFER	OR			
REFURBISHMENT PROJECT, CAPE			Ranco Con	struction, Inc.	A.E. Stone	, Inc.	The Chapp	by Corporation			
MAY COU	MAY COUNTY AIRPORT, NEW JERSEY										
			B. Bid Securi	ty (Type and Amount)	B. Bid Secur	ity (Type and Amount)	B. Bid Secur	ity (Type and Amount)			
CC	ONTINUED		C Amendr	ment Acknowledged	C Amendr	ment Acknowledged	C Amenda	ment Acknowledged			
	RACT ITEMS		O. Amendi	Herit Acknowledged	O. Amendi	Herit Ackriowiedged	O. Amendi	ment Acknowledged			
Α.	B.	C.	D.	E.	D.	E.	D.	E.			
ITEM	ESTIMATED	UNIT	UNIT	ESTIMATED	UNIT	ESTIMATED	UNIT	ESTIMATED			
No.	QUANTITY	Ī	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT			
	OPTION BID	WORK									
	OPTION 1:										
59	1	JOB	LS	\$708,486.75	LS	\$1,200,000.00	LS	\$715,000.00			
	TOTAL EST	BASE BID AND ALL	OPTIONS	\$6,178,998.22		\$8,150,000.00		\$8,236,345.00			
	. 5 . 7 . 2 . 0 .			¥3, 0,330.22		ψο, ιου,ουσίου		\$5,235,045.00			

ABSTRAC	CT OF OFFERS		1. SOLICI	TATION NUMBER	1			PAGE 11 OF 13
CONSTRU			W912BU-1					152 11 51 15
	ATION SHEET			TONS - Attach this form to OF 141	9. Abstract of	f Offers - Construction	when more than 2 offe	rs are received on
				ion project. Each Continuation Sh				
				be entered on the OF 1419. Use a				
				on Sheets (OF 1419A) as needed.	i .	TTTO O TOT WITO COTHWOOL	torrio in oxocco or i i i	and attaon addition
			30	2 200 (2	OFFERS (C	ontinued)		
2. PROJE	CT TITLE				<u> </u>	,		
			NO.: 9	(LB)	NO.:		NO.: 8	
FAA RESE	EARCH TEST BE	D	A. OFFERO		A. OFFERO	R	A. OFFEROR	
REFURBI	SHMENT PROJE	CT, CAPE	A.P. Const	ruction, Inc.				
MAY COU	MAY COUNTY AIRPORT, NEW JERSE							
				, NJ 08012				
				ty (Type and Amount) 20%	B. Bid Security	(Type and Amount)	B. Bid Security (Type	and Amount)
CC	CONTINUED			nent Acknowledged	C. Amendme	ent Acknowledged	C. Amendment A	cknowledged
3. CONTE	RACT ITEMS		YES	ŭ		ŭ		· ·
A.	B.	C.	D.	E.	D.	E.	D.	E.
ITEM	ESTIMATED	UNIT	UNIT	ESTIMATED	UNIT	ESTIMATED	UNIT	ESTIMATED
No.	QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
	BASE BID:							
1	1	JOB	_	\$589,000.00				
2		TON		\$737,100.00				
3	I I	JOB	-	\$400,000.00				
4		SY		\$245,000.00				
<u>5</u>		CY JOB	\$85.00 LS	\$170,000.00 \$70,000.00				
7		TON	_	\$70,000.00 \$85,644.00				
8		TON		\$88,920.00				
9		TON		\$67,626.00				
10		TON		\$67,626.00				
11		TON		\$67,626.00	I I			
12		GAL	\$5.00	\$120,000.00				
13		GAL		\$400.00				
14	1	JOB	LS	\$75,000.00				
15		JOB		\$35,000.00				
16		SF		\$25,000.00	I I			
17	I I		\$2,500.00	\$45,000.00				
18		SY		\$30,000.00				
19		CY		\$122,500.00				
20		TON		\$4,200.00				
21 22		LF LF		\$330,000.00 \$58,250.00				
23		LF		\$38,230.00 \$11,000.00	I I			
24		LF		\$39,000.00				
25		EA	+	\$650.00 \$650.00				
26		EA	·	\$1,750.00				
27		EA		\$15,000.00	I I			
28		LF		\$4,000.00	I I			
29		LF		\$7,000.00				

ABSTRAC [*]	T OF OFFERS		1. SOLICITA	ATION NUMBER			F	PAGE 12 OF 13	
CONSTRU	ICTION		W912BU-15-	B-0001					
CONTINU/	ATION SHEET		INSTRUCTIO	ONS - Attach this form to OF 1419,	Abstract of O	ffers - Construction, wl	hen more than 2	2 offers are received on	
			which can be	n project. Each Continuation Sheet entered on the OF 1419. Use add Sheets (OF 1419A) as needed.	litional OF 14	19's for the contract ite			
					OFFERS (Continued)				
2. PROJEC	CT TITLE								
			NO.: 9		NO.:		NO.: 8		
FAA RESE	ARCH TEST BE	D	A. OFFEROR		A. OFFEROI	₹	A. OFFERC)R	
REFURBISHMENT PROJECT, CAPE MAY COUNTY AIRPORT, NEW JERSEY			A.P. Constru	ction, Inc.					
			B. Bid Security	(Type and Amount)	B. Bid Security	(Type and Amount)	B. Bid Security	y (Type and Amount)	
	CONTINUED B. CONTRACT ITEMS			nent Acknowledged	C. Amendme	ent Acknowledged	C. Amendm	ent Acknowledged	
A.	В.	C.	D.	E.	D.	E.	D.	E.	
ITEM	ESTIMATED	UNIT	UNIT	ESTIMATED	UNIT	ESTIMATED	UNIT	ESTIMATED	
No.	QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	
30	5,300	LF	\$22.00	\$116,600.00					
31	150	LF	\$64.00	\$9,600.00					
32	5,150	LF	\$106.00	\$545,900.00					
33	150	LF	\$197.00	\$29,550.00					
34	6,000	LF	\$48.00	\$288,000.00					
35	35,000	LF	\$48.00	\$1,680,000.00					
36	5	EA	\$20,000.00	\$100,000.00					
37	44	EA		\$330,000.00					
38	17	EA		\$102,000.00					
39	10	EA		\$3,000.00					
40	2 1	EA		\$7,400.00					
41		JOB		\$16,000.00					
42	1	JOB		\$9,000.00					
43	220	EA		\$1,100,000.00					
44	39	EA		\$195,000.00					
45 46	30 25	EA		\$270,000.00 \$135,000.00					
46		EA EA		\$125,000.00 \$45,000.00	 				
47	9		\$5,000.00	\$45,000.00 \$28,000.00					
49	2 2		\$14,000.00	\$20,000.00					
50	1		\$16,000.00	\$16,000.00			+		
51	1		\$17,000.00	\$17,000.00					
52	5	EA		\$10,000.00					
53	5	EA		\$25.000.00			+		
54	1		\$14,000.00	\$14,000.00					
55	3	EA		\$12,000.00					
56	7	EA		\$28,000.00					
57	16		\$10,000.00	\$160,000.00					
				#22,200.00	i l				
58	7,100	LF	\$42.00	\$298,200.00					

ABSTRACT OF OFFERS		1. SOLICITATION NUMBER				PAGE 13 OF 13		
CONSTRUCTION		W912BU-1	5-B-0001					
CONTINUATION SHEET			INSTRUCTIONS - Attach this form to OF 1419, Abstract of Offers - Construction, when more than 2 offers are received on					
			a construction project. Each Continuation Sheet will accommodate 14 contract items to conform to the number of items					
			which can be entered on the OF 1419. Use additional OF 1419's for the contract items in excess of 14 and attach additional					
1			Continuation Sheets (OF 1419A) as needed.					
			OFFERS (Continued)					
2. PROJEC	CT TITLE							
1			NO.: 9		NO.:		NO.:	
FAA RESEARCH TEST BED			A. OFFEROR		A. OFFEROR		A. OFFEROR	
REFURBISHMENT PROJECT, CAPE			A.P. Construction, Inc.					
MAY COU	NTY AIRPORT	, NEW JERSEY						
			B. Bid Security (Type and Amount)		B. Bid Security (Type and Amount)		B. Bid Security (Type and Amount)	
CONTINUED			C. Amendment Acknowledged		C. Amendment Acknowledged		C. Amendment Acknowledged	
3. CONTRACT ITEMS					YES		YES	
A.	B.	C.	D.	E.	D.	E.	D.	E.
ITEM	ESTIMATED	UNIT	UNIT	ESTIMATED	UNIT	ESTIMATED	UNIT	ESTIMATED
No.	QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
OPTION BID WORK								
	OPTION 1:							
59	1	JOB	LS	\$1,300,000.00				
TOTAL EST BASE BID AND ALL OPTIONS AMT: \$10,422,542.00								